
Domáce úlohy cvičenie 6 - riešenia 
 

DÚ 1: Vypočítajte limitu elementárnymi úpravami: 

𝐥𝐢𝐦
𝒙→𝟏

𝒙𝟐 − 𝟓𝒙 + 𝟒

𝒙𝟑 + 𝒙𝟐 − 𝟐𝒙
 

 

Riešenie: 

lim
𝑥→1

𝑥2 − 5𝑥 + 4

𝑥3 + 𝑥2 − 2𝑥
= "0/0" = lim

𝑥→1

(𝑥 − 1)(𝑥 − 4)

𝑥(𝑥 − 1)(𝑥 + 2)
= lim

𝑥→1

(𝑥 − 4)

𝑥(𝑥 + 2)
=
−3

3
= −1 

 

 

DÚ 2: Vypočítajte limitu elementárnymi úpravami: 

𝐥𝐢𝐦
𝒙→𝟐

𝒙 + 𝟑 − √𝒙𝟐 + 𝟐𝒙 + 𝟏𝟕

𝟒 − 𝒙𝟐
 

 

Riešenie: 

lim
𝑥→2

𝑥 + 3 − √𝑥2 + 2𝑥 + 17

4 − 𝑥2
= "0/0"

= lim
𝑥→2

(
𝑥 + 3 − √𝑥2 + 2𝑥 + 17

4 − 𝑥2
)(

𝑥 + 3 + √𝑥2 + 2𝑥 + 17

𝑥 + 3 + √𝑥2 + 2𝑥 + 17
)

= lim
𝑥→2

(𝑥 + 3 − √𝑥2 + 2𝑥 + 17)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

(4 − 𝑥2)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

= lim
𝑥→2

(𝑥 + 3)2 − (√𝑥2 + 2𝑥 + 17)
2

(4 − 𝑥2)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

= lim
𝑥→2

𝑥2 + 6𝑥 + 9 − (𝑥2 + 2𝑥 + 17)

(2 − 𝑥)(2 + 𝑥)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

= lim
𝑥→2

4𝑥 − 8

−(𝑥 − 2)(2 + 𝑥)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

= lim
𝑥→2

−4(𝑥 − 2)

(𝑥 − 2)(2 + 𝑥)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)

= lim
𝑥→2

−4

(2 + 𝑥)(𝑥 + 3 + √𝑥2 + 2𝑥 + 17)
=

−4

4(5 + √25)
=

−1

(5 + 5)
= −

1

10
 

 


